
Arm

A

B

C

D

E

F

G

2 pcs

1 pc

1 pc

2 pcs

4 pcs

2 pcs

Back Panel

Slat 13 Pcs

Trundle Front Panel (PU)

Trundle Back Panel

Trundle Side Panel

Roller 8 pcs

8

9

  CSK M4 x 32 mm

10

54 pcs

H

1 pc

A1 A2

C

2
4

6

5 8

B

1
3

Step 4 : Install the slats to side rail. Tighten the slats  with CSK screw (8). The distance of the  slats should

 be sufficient to obtain desirable bed stability.

Step 2 : Attach  side rail (D) & (E) to arm (A) by pushing the bracket down to fit it.

I

1 pc

Back Side Rail

Front Side Rail (PU)

A2

A1

D

E

Step 3 : Attach the Back Panel (C) to the arm (A1+A2) as shown.

  M5 x 70 mm

Packing Hardware (1)

1

2

1 pc

3

5

JCBB M8 X 20

  FLAT WASHER

1 pc

8 pcs

4 pcs

  M4 x 100 mm

JCBC M6 X 50

8 pcs

6

7

4 pcs
SPRING WASHER

J
Bottom Panel

2 pcs

11

  CSK M4 x 50 mm 16 pcs

  CSK M3.5 x 16 mm 32 pcs

Power Nail 6/8

32 pcs

K

L

Bottom Panel Big Support

Bottom Panel Small Support

2 pcs

4

4 pcs

F

Legs

Wooden Leg

50 x 50 x 50(H)

4 pcs

4
2

Step 1 : Tighten the legs (F) to both arm (A) as shown.

A1

A2

A1

A2

A1

A2

927mm

x32

BACK VIEW

ASSEMBLY INSTRUCTION / ΟΔΗΓΙΕΣ ΣΥΝΑΡΜΟΛΟΓΗΣΗΣ

Βήμα 1:Σφίξτε τα πόδια (F) και στα δυο μέρη  (Α1) και (Α2).
Βήμα 2:Συνδέστε τις πλαινές τραβέρσες (D) & (E) στα μέρη (Α) σπρώχνωντας το στήριγμα προς τα 
κάτω ώστε να εφαρμόσει.

Βήμα 3:Συνδέστε το πίσω πάνελ (C) στα μέρη (Α1 + Α2)  του κρεβατιού όπως φαίνεται.
Βήμα 4: Τοποθετήστε τις τάβλες στις πλαϊνές ράγες. 
Σφίξτε τις τάβλες με τις βίδες CSK (8). Η απόσταση 
των ταβλών πρέπει να είναι επαρκής για να 
επιτευχθεί η επιθυμητή σταθερότητα 
του κρεβατιού.

ΠΙΣΩ ΟΨΗ



I

x16

Marking at

the Wooden !

x32

GI

H

9

J

7
10

Step 6 : Slide the footboard bottom panel (J) to the set up drawer.

Step 8 : Tighten the roller (10) with screws (7) using screw driver (not included) .

x20

8

L

K

x32

11

Step 7 : Tighten the bottom panel support (K & L) with screws (8) using screw driver (not included).

  Attach the bottom panel with Nail (11) using the hammer (not included).

x2

Step 9 : Assembly is complete.

x2 x2 x2

x2

Step 5 : Tighten the side panel (I) to the front panel (G) and back panel (H) with  screws (9) 
using screw driver (not included).
 Βήμα 5: Σ ίξτε το πλαϊνό πάνελ (I) στο μπροστινό πάνελ (G) και το πίσω πάνελ (H) με 
τις βίδες (9)                                              χρησιμοποιώντας κατσαβίδι (δεν 
περιλαμβάνεται).

Βήμα 6 : Σύρετε τον πάτο (J) για να στήσετε το συρτάρι.
Βήμα 7 : Σφίξτε το στήριγμα του πάτου (K & L) με τις βίδες (8) χρησιμοποιώντας 
κατσαβίδι (δεν περιλαμβάνεται). Στερεώστε τον πάτο με τα καρφιά (11) χρησιμοποιώντας 
το σφυρί (δεν περιλαμβάνεται).

Βήμα 8 : Σφίξτε τον κύλινδρο (10) με τις βίδες (7) χρησιμοποιώντας κατσαβίδι (δεν περιλαμβάνεται) . Βήμα 9: Η συναρμολόγηση ολοκληρώθηκε..

/Πιλοτική 
τρύπα



Ο
δη

γί
ες

 σ
υν

τή
ρη

ση
ς 

κα
ι φ

ρο
ντ

ίδ
ας

 ε
π

ίπ
λο

υ
-Ό

λα
 τα

 έ
π

ιπ
λα

 π
ρο

ορ
ίζο

ντ
αι

 γ
ια

 χ
ρή

ση
 σ

ε 
εσ

ω
τε

ρι
κό

 χ
ώ

ρο
.

-Ν
α 

τη
ρο

ύν
τα

ι σ
ω

στ
ά 

οι
 ο

δη
γί

ες
 σ

υν
αρ

μο
λό

γη
ση

ς 
γι

α 
τη

ν 
κα

λύ
τε

ρη
 σ

τα
θε

ρό
τη

τά
 το

υ 
επ

ίπ
λο

υ.

-Η
 σ

υσ
κε

υα
σί

α 
δε

ν 
θα

 π
ρέ

π
ει 

να
 π

ετ
άγ

ετ
αι

, π
ρι

ν 
γί

νε
ι έ

λε
γχ

ος
 ό

τι 
το

 π
ρο

ϊό
ν 

είν
αι

 ά
ρτ

ιο
 κ

αι
 δ

εν
υπ

άρ
χο

υν
 ε

λλ
είψ

εις
 σ

ε 
μέ

ρη
 τη

ς 
συ

σκ
ευ

ασ
ία

ς,
 β

άσ
ει 

τω
ν 

οδ
ηγ

ιώ
ν 

συ
να

ρμ
ολ

όγ
ησ

ης
.

-Κ
άν

τε
 έ

λε
γχ

ο 
στ

ου
ς 

συ
νδ

έσ
μο

υς
 κ

αι
 τι

ς 
βί

δε
ς 

αν
ά 

τα
κτ

ά 
χρ

ον
ικ

ά 
δι

ασ
τή

μα
τα

. Ό
λε

ς 
οι

 β
ίδ

ες
π

ρέ
π

ει 
να

 ε
ίν

αι
 κ

αλ
ά 

βι
δω

μέ
νε

ς.

-Γ
ια

 τη
 μ

η 
σω

στ
ή 

συ
να

ρμ
ολ

όγ
ησ

η 
κα

ι χ
ρή

ση
 το

υ 
επ

ίπ
λο

υ 
η 

ετ
αι

ρί
α 

μα
ς 

δε
 φ

έρ
ει 

κα
μί

α 
ευ

θύ
νη

.

-Ό
τα

ν 
με

τα
κι

νε
ίτε

 τα
 έ

π
ιπ

λα
, α

να
ση

κώ
στ

ε 
τα

 κ
αι

 α
π

οφ
ύγ

ετ
ε 

να
 τα

 σ
ύρ

ετ
ε 

γι
ατ

ί έ
τσ

ι μ
π

ορ
ού

ν 
να

π
ρο

κλ
ηθ

ού
ν 

φθ
ορ

ές
 σ

το
 π

άτ
ω

μα
 κ

αι
 σ

τα
 ίδ

ια
. Μ

ην
 μ

ετ
ακ

ιν
είτ

ε 
το

 κ
ρε

βά
τι 

μα
ζί 

με
 το

 σ
τρ

ώ
μα

.
Μ

ην
 σ

ύρ
ετ

ε 
το

 κ
ρε

βά
τι 

σε
 τρ

αχ
ιές

 ε
π

ιφ
άν

ειε
ς 

ή 
π

άν
ω

 σ
ε 

χα
λι

ά,
 κ

αθ
ώ

ς 
υπ

άρ
χε

ι κ
ίν

δυ
νο

ς 
να

π
ρο

κα
λέ

σε
τε

 ζ
ημ

ιά
 σ

το
ν 

σκ
ελ

ετ
ό 

το
υ 

κρ
εβ

ατ
ιο

ύ.

-Ο
 κ

αθ
αρ

ισ
μό

ς 
το

υ 
επ

ίπ
λο

υ 
σα

ς 
π

ρέ
π

ει 
να

 γ
ίν

ετ
αι

 το
π

ικ
ά 

στ
ον

 λ
εκ

έ,
 μ

ε 
βα

μβ
ακ

ερ
ό 

νω
π

ό 
κα

λά
στ

υμ
μέ

νο
 ύ

φα
σμ

α.

-Μ
ην

 χ
ρη

σι
μο

π
οι

είτ
ε 

π
ρο

ϊό
ντ

α 
το

υ 
εμ

π
ορ

ίο
υ 

ή 
κα

θα
ρι

στ
ικ

ά 
με

 χ
ημ

ικ
ή 

σύ
νθ

εσ
η 

γι
α 

τη
συ

ντ
ήρ

ησ
η 

κα
ι τ

ον
 κ

αθ
αρ

ισ
μό

 τω
ν 

επ
ίπ

λω
ν 

γι
ατ

ί ε
ίν

αι
 π

ιθ
αν

ό 
αυ

τέ
ς 

να
 π

ρο
κα

λέ
σο

υν
αλ

λο
ιώ

σε
ις

 κ
αι

 α
π

οχ
ρω

μα
τισ

μό
 σ

τα
 π

ρο
ιό

ντ
α.



Fu
rn

itu
re

 m
ai

nt
en

an
ce

 a
nd

 c
ar

e 
in

st
ru

ct
io

ns

-A
ll 

fu
rn

itu
re

 is
 in

te
nd

ed
 fo

r i
nd

oo
r u

se
.

-F
ol

lo
w

 th
e 

as
se

m
bl

y 
in

st
ru

ct
io

ns
 c

or
re

ct
ly

 fo
r t

he
 b

es
t s

ta
bi

lit
y 

of
 th

e 
fu

rn
itu

re
.

-T
he

 p
ac

ka
ge

 s
ho

ul
d 

no
t b

e 
th

ro
w

n 
aw

ay
, b

ef
or

e 
ch

ec
ki

ng
 th

at
 th

e 
pr

od
uc

t i
s 

go
od

 a
nd

 th
er

e
ar

e 
no

 m
is

si
ng

 p
ar

ts
 o

f t
he

 p
ac

ka
ge

, b
as

ed
 o

n 
th

e 
as

se
m

bl
y 

in
st

ru
ct

io
ns

.

-C
he

ck
 th

e 
co

nn
ec

to
rs

 a
nd

 s
cr

ew
s 

at
 re

gu
la

r i
nt

er
va

ls
. A

ll 
sc

re
w

s 
m

us
t b

e 
se

cu
re

ly
 ti

gh
te

ne
d.

-O
ur

 c
om

pa
ny

 b
ea

rs
 n

o 
re

sp
on

si
bi

lit
y 

fo
r i

m
pr

op
er

 a
ss

em
bl

y 
an

d 
us

e 
of

 th
e 

pr
od

uc
t.

-W
he

n 
m

ov
in

g 
th

e 
fu

rn
itu

re
, l

ift
 it

 a
nd

 a
vo

id
 d

ra
gg

in
g 

it 
be

ca
us

e 
th

is
 c

an
 c

au
se

 d
am

ag
e 

to
 th

e
flo

or
 a

nd
 th

e 
fu

rn
itu

re
 it

se
lf.

 D
o 

no
t m

ov
e 

th
e 

be
d 

w
ith

 th
e 

m
at

tre
ss

 o
n.

 D
o 

no
t d

ra
g 

th
e 

be
d 

on
ro

ug
h 

su
rfa

ce
s 

or
 o

n 
ra

gs
, a

s 
th

er
e 

is
 ri

sk
 o

f d
am

ag
in

g 
th

e 
fra

m
e 

of
 th

e 
be

d.

-C
le

an
in

g 
yo

ur
 fu

rn
itu

re
 s

ho
ul

d 
be

 d
on

e 
lo

ca
lly

 to
 th

e 
st

ai
n 

w
ith

 a
 fr

es
h,

 w
el

l-w
ru

ng
 c

ot
to

n 
cl

ot
h.

-D
o 

no
t u

se
 c

om
m

er
ci

al
 p

ro
du

ct
s 

or
 c

le
an

er
s 

w
ith

 a
 c

he
m

ic
al

 c
om

po
si

tio
n 

fo
r t

he
 m

ai
nt

en
an

ce
an

d 
cl

ea
ni

ng
 o

f t
he

 s
ur

fa
ce

s 
be

ca
us

e 
th

ey
 a

re
 li

ke
ly

 to
 c

au
se

 c
ha

ng
es

 a
nd

 d
is

co
lo

ur
at

io
n 

of
 th

e
su

rfa
ce

.




